MONDAY TUESDAY WEDNESDAY THURSDAY
1 2 3 Y
What is 12 divided by 0.2? | If I earn £60 for 8 hours | Work out 237 -25x 8 Write 0.000604 in
worK. what is my hourly without a caleulator standard form
rafe of pay?
8 9 10 1
Evaluate 270 Alfie. Billy & Charlie shared some money Expand List the first four Triangular
intherafio2:3:5. 4 2.2 2
S5x ¥y (Bx"+ 4x"y) numbers
Chatlie got £75 more than Alfie
How much money did Billy get?
15 16 17 18
Work out Andrew and Ruby have saved afofal| (Uhat is 100,000 less than5| 6 11 14 14 15 12 9
258 + 126 + 2 of £458 for their holiday million? From the above list. find:
) Andrew saved £72 more than Ruby. _
without a caleulator How much did Andrew save? - the median
- the mean
22 23 24 25
Caloulate 147 x £2.36 Work out 0.002 x 2.4 Write down the first 4 Solve
without a caleulator without a calculafor terms of the sequence 4p -2 =16
n”-10
29 30 31
Express 96 as a product of ifs Work out Write 54. 0000 in standard form
prime facfors. 22 5% of £1100

without a caleulator

A LITTLE BIT OF MATHS EVERY DAY ...

SATURDAY SUNDAY
5 6 7

FRIDAY

What is 150.000 less than 10

million? Sarah is fwice as old as Andy.
Mel is nine years older than Sarah.
The fofal of their ages is 94. How old is Mel?
12 13 14
Caleulate 017 x 6000 Work out the shaded area.
19 20 n

How many 20p coins make up | Helen buys 10 boxes of drinks. The cost of each box of drinks is

£15007? £5. Each box holds 12 cans of drink.
Helen sells two thirds of the cans for 80p each.
She then sells all the remaining cans for 30p each.
How much profit does Helen make?
26 77 28
Solve.
Ty > 5y -2

What is the total area
that is shaded?
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8 cm

REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!
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